Date: 20.03.2020

Cancellation of locations in the Advertisement published in the website www.petrolpumpdealerchayan.in for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" by BPCL on 25.11.2018

An Advertisement was published by BPCL on 25.11.2018 in the website www.petrolpumpdealerchayan.in seeking applications for "Appointment of Regular / Rural Retail Outlet (Petrol Pump) Dealerships" at various

locations in the State of Uttar Pradesh with Sl. no 1 to 3300.

The Locations with SI no -28,49, 201,224,242,254,313, 329, 330, 336,344, 350, 351,381,427, 432,433, 437,439,447,456,461, 472,476,492,501,503,513,530,533,541,542,547,552,568,573,579,583,604,614,636,643,653,

659, 669, 674, 679, 690, 701, 703, 710,712, 730, 753, 804, 824, 832, 840, 895,899, 903, 904, 914, 916, 924, 926, 951, 982, 996, 999, 1022, 1058, 1059, 1100, 1105, 1107, 1113, 1148, 1114, 1124, 1225, 1229, 1334, 1484, 1467, 1467, 1469,

1509, 1528, 1537, 1554, 1559, 1567, 1622, 1659, 1672, 1686, 1701, 1705, 1770, 1773, 1778, 1783, 1799, 1801, 1803, 1815, 1903, 1926, 2008, 2028, 2062, 2126, 2132, 2140, 2147, 2191, 2234, 2326, 2346, 2384, 2404, 2419, 2443, 2460, 2505, 2546, 2552,

2615, 2626, 2760, 2827, 2904, 2908, 2914, 2917, 2918, 2920, 2924, 2927, 2941, 2966, 3173, 3222, 3224 below, stand cancelled.

SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *				arranged by the licant	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. In Lakhs)	Security Deposit (Rs. In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC, SC CC-1, SC PH ST, ST CC-1, ST PH OBC, OBC CC-1, OBC PH OPEN, OPEN CC- 1, OPEN CC- 2, OPEN-PH	CC/DC/ CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
28	VILLAGE-NEHIA ON MANGARI ROAD VARANASI	VARANASI	RURAL	80	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
49	Village- Mirzapur, Bulandshahr to Shikarpur Road	BULANDSHAHR	RURAL	30	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
201	Village Chilasani, Block Etah On Etah to Sakeet Road , Dist Etah Village Phagnaul, Block Jaithra , on Etah -Aliganj Road, Dist	ЕТАН	RURAL	75	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
224		ETAH	RURAL	140	ОВС	DC	30	30	900	12	30	Draw of Lots	5	3
242		AURAIYA	RURAL	40	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
254		GAUTAM BUDH NAGAR	RURAL	60	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
313	Village-Kamar on Kosi Kaman Road	MATHURA	RURAL	40	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
329	Village - Bijahari, Block-Sasni	HATHRAS	RURAL	100	Open	DC	30	30	900	12	30	Draw of Lots	5	3
330	Village-Brahma puri on Goraha-Sahawar Road	KASGANJ	RURAL	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
336 344	Village Chandrapur Khurd On Udi Agra Road (Block Badapura) Village Nagla Beech on Nagla Beech to Jalesar road	Etawah FIROZABAD	RURAL RURAL	107 90	OBC OPEN	DC DC	30 30	30 30	900	12 12	30 30	Draw of Lots Draw of Lots	5	3 4
350		Auraiya	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
351 381	Village Nurpur Asedemai on Thanumai Road Tehsil Shikohabad village singhirampur on singhirampur pharhan road	FIROZABAD FARRUKHABAD	RURAL	45 65	OBC SC	DC CFS	30 30	30 30	900	12 0	30	Draw of Lots Draw of Lots	5 0	3 2
427	VILLAGE - MEDU, TEHSIL- HARDOI , HARDOI District	HARDOI	RURAL	50	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
432 433	Village - Bankeyganj, Tehsil - Gola, District - Lakhimpur Kheri Village Majhara	LAKHIMPUR KHERI PILIBHIT	RURAL RURAL	54 65	SC OBC	CFS DC	30 30	30 30	900 900	0 12	0 30	Draw of Lots Draw of Lots	0 5	2 3
437	VILLAGE- Naurozpur, SHAHABAD, HARDOI DISTRICT	HARDOI	RURAL	65	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
439	Village - Trikoleya on Palia to Sampurnanagar Road, Tehsil - Palia, District - Lakhimpur Kheri	LAKHIMPUR KHERI	RURAL	65	OBC	DC	30	30	900	12	30	Draw of Lots	5	3

	VILLAGE RASOOLPUR,ZARIFNAGAR TO NADHA ROAD				1									
447	DISTRICT BUDAUN	BUDAUN	RURAL	59	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
447	Within 3 kms of Rajapur Chauraha on Laharpur Road, District -	BUDAUN	KUKAL	39	OPEN	DC	30	30	900	12	30	DIAW OI LOIS	5	4
456		LAKHIMPUR KHERI	RURAL	65	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
430	Village - Aurangabad, Tehsil - Mohammadi, District -	LAKHIIVIPUK KHEKI	NORAL	03	OFLIN	DC DC	30	30	300	12	30	DIAW OF LOGS	3	4
461	Lakhimpur Kheri	LAKHIMPUR KHERI	RURAL	65	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
472	Village Bhikaripur (On Rajtalab Bhikaripur Road)	PILBHIT	RURAL	58	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
472	Village - Madnapur on Katra Jalalabad Road MDR 5W, District -	FILBIIII	NUNAL	36	OBC	DC DC	30	30	300	12	30	DIAW OF LOGS	3	<u> </u>
476	Shahjahanpur	SHAHJAHANPUR	RURAL	100	sc	CFS	30	30	900	0	0	Draw of Lots	0	2
470	VILLAGE-KAKRALA, ON KAKRALA TO BUDAUN ROAD, DISTRICT	SHAHSAHARI OK	NONAL	100	30	CIS	30	30	300	•		DIAW OF LOCA	0	
492		BUDAUN	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
432	Village - Chandokha on Katra Jalalabad Road MDR 5W,	BODAON	NONAL	70	OFEN	DC DC	30	30	300	12	30	DIAW OF LOCA	,	-
501	District - Shahjahanpur	SHAHJAHANPUR	RURAL	73	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
501	Village - Muana Bangar on Katra Khudaganj Road, Tehsil -	511/415/41/41/1010	HOIDE		0.2	- 50	50	50	300		50	510 W 61 2005		•
503	Tilhar, District - Shahjahanpur	SHAHJAHANPUR	RURAL	53	OBC PH	DC	30	30	900	12	30	Draw of Lots	5	3
513		HARDOI	RURAL	75	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
313	VILLAGE-NAGLA SHARKI, ON ROAD CONNECTING SH43 &	1001	HOIDE		0.2	- 50	30	50	300		50	5104 01 2005		•
530	MDR77W, DISTRICT BUDAUN	BUDAUN	RURAL	65	sc	CFS	30	30	900	0	0	Draw of Lots	0	2
	Village-Mammarpur, Within 2kms from Bawan Chungi				1					,			-	
533	towards Bawan, District Hardoi	HARDOI	RURAL	120	ОВС	DC	30	30	900	12	30	Draw of Lots	5	3
													-	-
1	VILLAGE-TUMURKEE, ANJHI RAILWAY STATION TO ALAMPUR													
541	ROAD, BETWEEN KM STONE 4 AND 6, DISTRICT HARDOI	HARDOI	RURAL	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	VILLAGE-GUDHNI, ON BILSI TO WAZIRGUNJ ROAD, DISTRICT												-	
542	BUDAUN	BUDAUN	RURAL	60	sc	CFS	30	30	900	0	0	Draw of Lots	0	2
	Village-Chandsaura, on RHS towards Sawayazpur from Hardoi,									-			-	
547	Hardoi District, U.P.	HARDOI	RURAL	80	ОВС	DC	30	30	900	12	30	Draw of Lots	5	3
	ON MDR WITHIN 2 KMS OF PRATAP NAGAR CHAURAHA ON	-												
552		SITAPUR	RURAL	100	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
	Within 3 kms from intersection of SH-29 and MDR 5W at													
568	Jalalabad, while moving to Madnapur on MDR 5W	SHAHJAHANPUR	RURAL	81	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
573		BAREILLY	RURAL	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	VILLAGE-BAKSENA, ON DATAGUNJ TO MIAUN ROAD,													
579	DISTRICT BUDAUN	BUDAUN	RURAL	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	Village - Sampoornanagar, On Sampoornanagar to Palia Road,													
583	District Lakhimpur Kheri	LAKHIMPUR KHERI	RURAL	82	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	VILLAGE-HAKEEMGANJ ON SWAR TO BAZPUR ROAD,													
604	DISTRICT RAMPUR	RAMPUR	RURAL	80	sc	CFS	30	30	900	0	0	Draw of Lots	0	2
	village Gaura Bangar, Barhaj Rudrapur Bypass, Tehsil Barhaj,													
614		DEORIA	RURAL	100	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
	Village Indersenva on Ramkola-Padrauna road, Tehsil													
636	Kaptanganj, District Kushinagar	KAUSHINAGAR	RURAL	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	Village Laxmanpur, Khorum - Bhrugusarai Road, District													
643		DEORIA	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	village Telia kala,thana Maeel, Barhaj to Maeel Road,block													
653	Bhagalpur, district Deoria	DEORIA	RURAL	90	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	Village Sadullah Nagar ,Tehsil Utraula on Sadullah nagar -													
659	Gaura chowki Road	BALRAMPUR	RURAL	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	Village Bakasi Maqbool Ganj Bazaar near Odwar Railway													
669	Station Basti	BASTI	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
674	Village Patna Sigala, Tehsil Sadar on Peedi to Haiderganj Road		RURAL	80	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
679	VILLAGE SURAJPUR, TEHSIL MADHUBAN	MAU	RURAL	70	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
690	Village Semara on Shohratgarh-Khunwa Road	SIDDHARTH NAGAR	RURAL	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	Village Raghavpur, Tehsil Balrampur on Harihar Ganj-													
701	Sheopura Road	BALRAMPUR	RURAL	70	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
	Village Sarayapurevishan , Tehsil Sadar on old NH-56 Road													
703	near Aliganj Bazar	SULTANPUR	RURAL	50	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
	Village Kudiya Chitauna, Tehsil Akbarpur on Annawa Pahitipur													
710	road	AMBEDKAR NAGAR	RURAL	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	Village Emilidiha tehsil Khalilabad on Rithuakhor Ghaghasra													
712	road	SANT KABIR NAGAR	RURAL	80	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
730	Village Bardeeha on Kauriram- Gola road	GORAKHPUR	RURAL	55	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
753		BALRAMPUR	RURAL	60	OBC CC 1	DC	30	30	900	12	30	Draw of Lots	5	3
804	Village Barhardih, on Maharajganj Bilariyaganj Road	AZAMGARH	RURAL	85	OBC	DC	30	30	900	12	30	Draw of Lots	5	3

824	VILL MAHMOOD SARAI TEHSIL MUSAFIRKHANA	AMETHI	RURAL	42	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
024	VILL PURABGAURA(JAMO TO WARISHGANJ ROAD)TEHSIL	AWIETTII	NONAL	72	30	CIS	30	30	500	Ů		Diaw of Lots	,	
832	MUSAFIRKHANA	AMETHI	RURAL	135	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	Within Nagar Panchayat Mihinpurwa Boundaries in													
840	Mihipurwa Isthit Motiour Tehsil	BAHRAICH	RURAL	75	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	village pehla saraiya, on kutlupur- isepur sampark marg, tehsil													
895	fatehpur	BARABANKI	RURAL	40	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
899	VILL RAMPURKACHAN TEHSIL SOHAWAL	AYODHYA	RURAL	52	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
903	VIII AMANIHANJ , TEHSIL: MILKIPUR	AYODHYA	RURAL	45	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
904	VILL KARMA TEHSIL BIKAPUR	AYODHYA	RURAL	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
914	Vill Akma On Inayatnagar to Amanigaj Road Tehsil: Milkipur	AYODHYA	RURAL	114	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
916	village kakaraha sirasa, on deviganj- siddhaur road	BARABANKI	RURAL	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
924	Village Suchitaganj, Tehsil Sohawal	AYODHYA	RURAL	40	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
926	Village Piwali Tehsil Colonelganj , on Dehras ROad	GONDA	RURAL	55	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	Anywhere on Road Connecting Katra Railway Crossing and													
951	NH27 (Lucknow-Gorakhpur Road)	GONDA	RURAL	45	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
982	Village Navi Kot Nandana on 60 ft Road	LUCKNOW	RURAL	50	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
996	Village Tiloi, Road Connecting Narayanganj Tiraha to Inhauna	RAEBARELI	RURAL	60	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
l .					l .									
999	Village Kuvana on Maharajganj Road, Tehsil Maharajganj	RAEBARELI	RURAL	50	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
1022	Village Baigaon on Unnao Purwa Road	UNNAO	RURAL	50	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
l	VILLAGE - TEKI PATTI (BIHAR), LALGOPALGANJ-JETHWARA	L				l	l		l			l	_	
1058	ROAD, PRATAPGARH	PRATAPGARH	RURAL	75	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	village -tannapar pata on Fatehpur bypass,block-manjhanpur,									_			_	_
1059	MANJHANPUR TO DHATA Road ,KAUSHAMBI	KAUSHAMBI	Rural	89	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
	VILLAGE - BHIKHARIPUR, BLOCK-KASHI VIDYAPEETH ON													
1100	JAMUA-JAKHANI ROAD	VARANASI	Rural	75	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
	VILLAGE BADWAPUR,BLOCK-PINDRA DHWKALGANJ ROAD,									_			_	_
1105	VARANASI	VARANASI	RURAL	75	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
	Village Virampur, Block Dheeg, Tehsil Gyanpur on Suriyawa-	SANT RAVI DAS											_	3
1107	Kalinjara Road	NAGAR	Rural	80	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
4433	VILLAGE - BAHUTA CHAKDAHI, ON SURIYAWA BHADOHI ROAD	SANT RAVI DAS NAGAR	Rural	50	OPEN PH	DC	20	20	900	12	30	D	5	
1132 1133			RURAL	75	OBC	DC	30 30	30 30	900	12	30	Draw of Lots Draw of Lots	5	3
1133	village -matehtu, Gyanpur to Durgaganj Link Road	SANT RAVI DAS NAGA SANT RAVI DAS	RUKAL	/5	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
1148	Village Beinuri, Teheil Aurei en MADR 156 5	NAGAR	Rural	45	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
1146	Village Rajpuri, Tehsil Aurai on MDR 156-E VILLAGE MUJEHRA KALAN, ON MUNEHARPUR-BASTHAN	NAGAR	Kurai	45	OPEN	DC	30	30	900	12	30	Draw or Lots	,	4
1184	ROAD	MIRZAPUR	RURAL	50	ОВС	DC	30	30	900	12	30	Draw of Lots	5	3
1104	NOAD	WIIIZAI OK	NONAL	30	OBC	DC	30	30	300	12	30	DIAW OF LOCS	,	,
1194	Village Nabhipur on Singramau Patti Road, Tehsil Badlapur	JAUNPUR	RURAL	80	ОВС	DC	30	30	900	12	30	Draw of Lots	5	3
1134	VILLAGE- SHAHGANJ TEHSIL- GHORAWL on Robertsganj-	JAONI OK	NONAL	- 50	OBC	- DC	30	30	300	12	30	Draw or Lots	,	<u> </u>
1225	Ghorawal Marg	SONBHADRA	Rural	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
L	Village Badanpur ON PHAPHAMAU TO KAMLANAGAR ROAD,			100	0.2				300		50	3.0.0 0. 2003	<u> </u>	-
1299	ALLAHABAD	PRAYAGRAJ	RURAL	178	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
1394	VILLAGE-UMARIYA , TEHSIL RATH ON MDR 41B	HAMIRPUR	RURAL	80	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
	VILLAGE-DHANAULI ON JALAUN HARDOI GUJAR ROAD, TEHSIL-			T					1	_			_	
1428	KONCH	JALAUN	RURAL	35	OPEN PH	DC	30	30	900	12	30	Draw of Lots	5	4
1454	Village Bhadori on any district road	JHANSI	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
1467	VILLAGE-BAGHPUR, ON MDR 78 C TEHSIL RASOOLABAD	KANPUR DEHAT	RURAL	75	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
	VILLAGE- MAKANPUR ON MADANPUR-MUBARAKPUR ROAD ,													
1469	TEHSIL-SIKANDRA	KANPUR DEHAT	RURAL	50	sc	CFS	30	30	900	0	0	Draw of Lots	0	2
1496	Vill-Bhitargaon, Tehsil - Ghatampur	KANPUR NAGAR	RURAL	75	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
1509	Vill-Kathara, Tehsil-Ghatampur	KANPUR NAGAR	RURAL	70	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
1528	Village Rajora on bina -lalitpur road	LALITPUR	RURAL	70	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
1537	Village Sunwaha on Banpur to Mehrauni Road	LALITPUR	RURAL	85	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
1554	Village Kumbhroda, Mahoba	МАНОВА	RURAL	55	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
1559	Village Pratham Garh, Mohidinpur Kharkhoda road	MEERUT	RURAL	35	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
1	VILLAGE DHAHDANIYA, ON KUCHESWAR CHOPUPLA TO													
1567	KUCHESWAR MUD FORT ROAD	HAPUR	RURAL	30	OBC	DC	30	30	900	12	30	Draw of Lots	5	3
1622	Village Khadoli on Bhola road	MEERUT	RURAL	100	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4
l	Village Pandraval, Pandraval Tiraha to Atrauli Road, between													
1659	KM stone 112 to 115	BULANDSHAHR	RURAL	80	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
1672	Village Masuri, Ghaziabad to Hapur Main Road	GHAZIABAD	RURAL	42	OPEN	DC	30	30	900	12	30	Draw of Lots	5	4

1791 Vill-Det William Analysin-Chandrous road SAMMINA, BIJBAL 159 OPEN DC 35 35 3225 25 60 Down of Lots	15 4 15 5	15												
1770 Hi-Drinker on Sharkholder road. SAMMAN RURAL 100 SC C75 20 20 600 0 0 0 0 0 0 0 0	15 5								OBC	150	RURAL	BIJNOR	Vill Kundabagen, daranagar ganj Haldaur toNehtaur	1686
12772 URL Mendemol Bengrey randmiss Books SAMAMAPPUR RUPAK 120 OPEN DC 35 35 1225 25 60 Draw of Los														
1772 Will Gargerro (Sendrish Books)		0												
1778 Will add (Photassis Blobs)		15												
1788		15	Draw of Lots	60		1225			OPEN	120			Vill Gangeru (Kandhla Block)	1773
Sympto to Biokinschilder Rood, Srife, Village Rehavmorpur urf BIULANDSHARR RURAL 150 OBC DC 35 45 1575 25 75 Draw of Lots	30 4	30	Bidding	10	25	1225	35	c	OBC CC 1	100	IR RURAL	SAHARANPUR	Vill Badsu (Khatauli Block)	1778
Syspee to Bulanchahr Road, 9165, Village Harwanpur unt	0 3	0	Draw of Lots	0	0	400	20	FS	SC	108	HR RURAL	BULANDSHAHR	Village-Chingrawali, Tehsil-Khurja	1783
1799 Shepempur and Village Chigrawall 1795 175														
Dr. Lahtimpur - Keri - Lagueta Road MRD 75C, District -	15 4	15	Draw of Lots	75	25	1575	45	oc	ORC	150	HR RIIRAI	RI II ANDSHAHR		1799
1801 Labhimpur Khem Authinpur Khem	-	1 23	Didw or Lots	,,,	2.5	1373	-13	-	000	150	ant Roma	DOD WOOD WATER		1,33
NILLOG-GHANSALIL, NEAR NARANN CHUMBAN CRIST BULDAIN SUBAL 160	0 3	0	D	_		4225	25			420	KILEDI BUDAI	LAWINADID WIEDI		4004
103 Matagues pro Panda Nagar Road Captaingang-Bruza 105 106 106 107 107 108 109 109 108 109 109 108 109 109 108 109 10	0 3	0	Draw of Lots	U	U	1225	35	rs	SC	130	KHERI KUKAL	LAKHIMPUK KHERI		1801
Village Jagderegrow on Pandam Nagar Rada Captaingeni-Ehrus SASTT RURAL 210 OPEN DC 16 14 224 25 60 Draw of Lots														
1815 Pool 1875 Pool Pool 1875 Pool 1875 Pool 1875 Pool 1875 Pool Pool 1875 Pool Pool 1875 Pool	15 4	15	Draw of Lots	75	25	1575	45	C	OBC	160	RURAL	BUDAUN	TO SAHASWAN ROAD, DISTRICT BUDAUN	1803
1909 Hatplay Sector 104, Node, GE Nager GAUTAM BUDH NAG REGULAR 150 OPEN CC 35 45 1575 25 10 Bidding													Village Jagdeespur on Pandav Nagar Road (Captainganj-Bhura	
Within 3 KM from Rajeev Chrow's Traha on Charra Boad, A LIGARH REGULR 150 OPEN DC 35 45 1575 25 75 Draw of Lots	15 5	15	Draw of Lots	60	25	224	14	c l	OPEN	210	RURAL	BASTI	road)	1815
Within 3 RM from Rajeev Chrow's traha on Charra Road, ALIGARH REGULR 160 OPEN DC 35 45 1575 25 75 Draw of Lots	30 5	30	Bidding	10	25	1575	45	c	OPFN	150	IDH NAG REGULAR	GAUTAM BUDH NA	Hazipur, Sector 104, Noida, GB Nagar	1903
1926 Attraulli, Dist. Aligneh									0.2					
In between km stone no 35 to 40 oo 5H-230 (Fatehgar)	15 5	15	Draw of Late	75	25	1575	45	, I	ODEN	160	DECLUAD	ALICABLI		1026
2008 Kanpur road FABRUKHABAD REGULAR 135 OPEN CC 20 20 400 25 10 Bidding	15 5	15	Draw of Lots	/5	25	15/5	45		OPEN	160	REGULAR	ALIGARH		1926
WITHIN 3 KM OF VILLAGE. ARIJA TOWARDS HARDOL ON NH- 2028 73 THERIS. ISHAHABA, HARDOL														
2028 731 TEHSIL-SHAHABAD, HARDOI DISTRICT	30 5	30	Bidding	10	25	400	20	C	OPEN	135	AD REGULAR	FARRUKHABAD		2008
Within 3 KM of Village- Jharekhapura, ON SH-21, District STAPUR REGULR 150 OPEN CC DC 35 45 1575 25 75 Draw of Lots												-	WITHIN 3 KM OF VILLAGE -ARUA TOWARDS HARDOI , ON NH-	
2002 Stapur Stapur STAPUR REGULAR 150 OPEN CC DC 35 45 1575 25 75 Draw of Lots	15 5	15	Draw of Lots	60	25	224	14	c l	OPEN	145	REGULAR	HARDOI	731 TEHSIL- SHAHABAD , HARDOI DISTRICT	2028
200 NH-530, within 2 KM of Village-Rukampur Madhopur STAPUR REGULAR 150 OPEN CC 1 DC 35 45 1575 25 75 Draw of Lots													Within 3 KM of Village- Iharekhapura, ON SH-21, District	
On NH-S30, within 2 KM of Village-Rukampur Madhopur on NH-S30 BAREILLY REGULAR 100 OPEN CC 35 35 1225 25 10 Bidding	15 5	15	Draw of Lote	75	25	1575	45	r	OPEN CC 1	150	REGULAR	SITADLIR		2062
2132 SAWAYAIPUR WML, HARDOI DISTRICT HARDOI REGULAR 100 OPEN CC 35 35 1225 25 10 Bidding	13 3	13	DIAW OF LOG	73	23	13/3	43	,,,	OF LIVICE 1	130	REGULAR	SHAFOR	-	2002
2132 SAWAYAJPUR WML, HARDOI DISTRICT								_						
WITH IN 2KM OF VILLAGE-CHANDPUR ANDER NAGARPALI, ON SH-38,BILGRAM BYPASS TO KANNAUJ MARG,HARDOI Between KM Stone no. 47 and 52, Village - Mohammadpur 1, Tajpur on Shahjahanpur Mohammadi Road, SH-93 Between KM Stone no. 47 and 52, Village - Mohammadpur 2, 147 Tajpur on Shahjahanpur Mohammadi Road, SH-93 Between Tehsil Chauraha & Nemisharan Tiraha on SH- 2, 119 12, District Sitapur Village mathauli, tehsil Kasya on Maharana pratap Road, district Kushinagar KAUSHINAGAR REGULAR 100 OBC CC 35 35 1225 25 10 Bidding 2, 234 district Kushinagar Between km stone no. 78-80 MAHARAJGAN) REGULAR 120 SC CFS 35 35 1225 25 10 Bidding 2, 346 Road) AMBEDKAR NAGAR REGULAR 120 SC CFS 35 35 1225 25 10 Bidding AMBEDKAR NAGAR REGULAR 120 SC CFS 35 35 1225 25 10 Bidding AMBEDKAR NAGAR REGULAR 120 SC CFS 35 35 1225 25 10 Bidding AMBEDKAR NAGAR REGULAR 120 SC CFS 35 35 1225 0 0 D Draw of Lots Between km Stone no. 78-80 MAHARAJGAN) REGULAR 120 SC CFS 35 35 1225 0 0 D Draw of Lots Between km Stone no. 78-80 BALLIA REGULAR 180 OPEN DC 16 14 224 25 60 Draw of Lots BETWEEN KM STONE 375 TO 380 ON SH 34 MAU BALLIA REGULAR 180 OPEN DC 16 14 224 25 60 Draw of Lots Between km Stone no. 274-275 on NH-730 (Bahraich- 344) Shrawasti Road) ANBEDKAR NAGAR REGULAR 150 OPEN DC 16 14 224 25 60 Draw of Lots Between km Stone no. 274-275 on NH-730 (Bahraich- 344) Shrawasti Road) ANBEDKAR NAGAR REGULAR 150 OPEN DC 35 45 1575 25 75 Draw of Lots Between km Stone no. 274-275 on NH-730 (Bahraich- 344) Shrawasti Road) ANBEDKAR NAGAR REGULAR 150 OPEN DC 30 30 900 12 30 Draw of Lots BETWEEN KM STONE NO 375-380 ON SH-34(MAU-BALLIA REGULAR 50 OPEN DC 30 30 900 12 30 Draw of Lots BETWEEN KM STONE NO 375-380 ON SH-34(MAU-BALLIA REGULAR 50 OPEN DC 30 30 900 12 30 Draw of Lots BETWEEN KM STONE NO 375-380 ON SH-34(MAU-BALLIA REGULAR 50 OPEN DC 30 30 900 12 30 Draw of Lots BETWEEN KM STONE NO 375-380 ON SH-34(MAU-BALLIA REGULAR 50 OPEN DC 30 30 900 12 30 Draw of Lots BETWEEN KM STONE NO 375-380 ON SH-34(MAU-BALLIA REGULAR 50 OPEN DC 30 30 900 12 30 Dra		30												
2140 ON SH-38,BILGRAM BYPASS TO KANNAUJ MARG,HARDOI HARDOI REGULAR 100 OBC CC 35 35 1225 25 10 Bidding	0 3	0	Draw of Lots	0	0	1225	35	FS	SC	100	REGULAR	HARDOI	SAWAYAJPUR WML , HARDOI DISTRICT	2132
2140 ON SH-38,BILGRAM BYPASS TO KANNAUJ MARG,HARDOI HARDOI REGULAR 100 OBC CC 35 35 1225 25 10 Bidding														
2140 ON SH-38,BILGRAM BYPASS TO KANNAUJ MARG,HARDOI HARDOI REGULAR 100 OBC CC 35 35 1225 25 10 Bidding													WITH IN 2KM OF VILLAGE- CHANDPUR ANDER NAGARPALI.	
Between KM Stone no. 47 and 52, Village - Mohammadpur Tajpur on Shahjahanpur Mohammad Road, SH-93 SHAHJAHANPUR REGULAR 100 SC CFS 35 35 1225 0 0 Draw of Lots	30 4	30	Ridding	10	25	1225	35	·c	ORC	100	REGULAR	HARDOL		2140
2147 Tajpur on Shahjahanpur Mohammadi Road, SH-93 SHAHJAHANPUR REGULAR 100 SC CFS 35 35 1225 0 0 Draw of Lots	~ +	30	Didding			1223	33	.~	000	100	ILCOOD III	11/11/001	ON SIT SO, DIEGIA IIII DI 17 IOS TO IO III III IOS III III IOS III III IOS III III	2110
2147 Tajpur on Shahjahanpur Mohammadi Road, SH-93 SHAHJAHANPUR REGULAR 100 SC CFS 35 35 1225 0 0 Draw of Lots														
Between Tehsil Chauraha & Nemisharan Tiraha on SH- 2191 21_District Sitapur SITAPUR REGULAR 120 OBC CC 35 35 1225 25 10 Bidding														
2191 21, District Sitapur SITAPUR REGULAR 120 OBC CC 35 35 1225 25 10 Bidding	0 3	0	Draw of Lots	0	0	1225	35	FS	SC	100	PUR REGULAR	SHAHJAHANPUR		2147
Village mathauli, tehsil Kasya on Maharana pratap Road, 2234 district Kushinagar KAUSHINAGAR REGULAR 100 OBC CC 35 35 1225 25 10 Bidding													Between Tehsil Chauraha & Nemisharan Tiraha on SH-	
Village mathauli, tehsil Kasya on Maharana pratap Road, 2234 district Kushinagar KAUSHINAGAR REGULAR 100 0BC CC 35 35 1225 25 10 Bidding 2326 0 0 0 Draw of Lots 2326 0 0 Draw of Lots 2346 0 Draw of Lots 2346 Draw and provided in the provided in t	30 4	30	Bidding	10	25	1225	35	c l	OBC	120	REGULAR	SITAPUR	21,District Sitapur	2191
2234 district Kushinagar XAUSHINAGAR REGULAR 100 0BC CC 35 35 1225 25 10 Bidding														
2326 On SH81 between km Stone no. 78-80 MAHARAIGANI REGULAR 120 SC CFS 35 35 1225 O O Draw of Lots	30 4	30	Ridding	10	25	1225	35	·c	ORC	100	AR REGULAR	KALISHINAGAR		2234
Between km stone no. 45 to 50 on NH-128 (Tanda Raebareilly Road)		0												
2346 Road AMBEDKAR NAGAR REGULAR 240 SC CC 1 CFS 35 45 1575 0 0 Draw of Lots	0 3	U	Draw of Lots	U	U	1225	35	F5	SC	120	ANJ REGULAR	MAHARAJGANJ		2326
Detween km STONE 375 TO 380 ON SH 34 MAU BALLIA BALLIA REGULAR 180 OPEN DC 16 14 224 25 60 Draw of Lots												'		
2384 STRETCH BALLIA REGULAR 180 OPEN DC 16 14 224 25 60 Draw of Lots	0 3	0	Draw of Lots	0	0	1575	45	FS	SC CC 1	240	NAGAR REGULAR	AMBEDKAR NAGAR		2346
2404 Within Municipal Limit of Utraula on Utraula-Gonda Road BALRAMPUR REGULAR 160 OPEN DC 16 14 224 25 60 Draw of Lots													between km STONE 375 TO 380 ON SH 34 MAU BALLIA	
2404 Within Municipal Limit of Utraula on Utraula-Gonda Road BALRAMPUR REGULAR 160 OPEN DC 16 14 224 25 60 Draw of Lots	15 5	15	Draw of Lots	60	25	224	14	c l	OPEN	180	REGULAR	BALLIA	STRETCH	2384
Between Km Stone no. 274-276 on NH-730 (Bahraich- 2419 Shravast Road Shravast Road														
Between Km Stone no. 274-276 on NH-730 (Bahraich- 2419 Shravast Road Shravast Road	15 5	15	Draw of Lote	60	25	224	1/1	r	OPEN	160	REGULAR	BALBAMPLIB	Within Municipal Limit of Utraula on Utraula-Goods Pood	2404
2419 Shravasti Road Shr	2 3	15	DIAM OI LOIS	JU	۷.5	224	14	~	OFEIN	100	, REGULAR	DALKAIVIPUK		2404
on NH24 between km stone 55 and 60 on RHS, district 2443 Maharajganj MAHARAJGANJ REGULAR 155 OBC DC 35 45 1575 25 75 Draw of Lots BETWEEN KM STONE NO 375-380 ON SH-34(MAU-BALLIA 2460 HIGHWAY) BALLIA REGULAR BALLIA REGULAR BOPEN DC 30 30 900 12 30 Draw of Lots Inbetween kilometer Stone Number. 89 & 94 on BANDA BARABANKI BARABANKI REGULAR BOPEN DC 30 30 900 12 30 Draw of Lots								.						
2443 Maharajganj MAHARAJGANJ REGULAR 155 OBC DC 35 45 1575 25 75 Draw of Lots	30 5	30	Bidding	10	25	1575	45	C	OPEN	150	REGULAR	SHRAVASTI		2419
BETWEEN KM STONE NO 375-380 ON SH-34(MAU-BALLIA 2460 HIGHWAY) BALLIA REGULAR 50 OPEN DC 30 30 900 12 30 Draw of Lots Inbetween Kilometer Stone Number. 89 & 94 on BANDA 2505 Behraich road SH-13 BARABANKI REGULAR 80 OPEN CC1 DC 30 30 900 12 30 Draw of Lots						1			1				on NH24 between km stone 55 and 60 on RHS, district	
BETWEEN KM STONE NO 375-380 ON SH-34(MAU-BALLIA 2460 HIGHWAY) BALLIA REGULAR 50 OPEN DC 30 30 900 12 30 Draw of Lots Inbetween Kilometer Stone Number. 89 & 94 on BANDA 2505 Behraich road SH-13 BARABANKI REGULAR 80 OPEN CC1 DC 30 30 900 12 30 Draw of Lots	15 4	15	Draw of Lots	75	25	1575	45	c	OBC	155	ANJ REGULAR	MAHARAJGANJ	Maharajganj	2443
2460 HIGHWAY BALLIA REGULAR 50 OPEN DC 30 30 900 12 30 Draw of Lots														
Inbetween Kilometer Stone Number. 89 & 94 on BANDA 2505 Behraich road SH-13 BARABANKI REGULAR 80 OPEN CC 1 DC 30 30 900 12 30 Draw of Lots	5 4	5	Draw of Lots	30	12	900	30	oc	OPEN	50	REGULAR	RALLIA		2460
2505 Behraich road SH-13 BARABANKI REGULAR 80 OPEN CC 1 DC 30 30 900 12 30 Draw of Lots	- + -	 	DIAW OF LOUS	30	14	300	30	-	OI LIV	30	REGULAR	DALLIA	· · · · · · · · · · · · · · · · · · ·	2400
		1						.						
	5 4													
	0 2	0	Draw of Lots	0	0	900	30	FS	SC	60	REGULAR	AMETHI		2546
On Ghaila Road in between Daud Nagar Chauraha and													On Ghaila Road in between Daud Nagar Chauraha and	
2552 Ghazipur Chauraha, WML LUCKNOW REGULAR 150 OPEN DC 35 45 1575 25 75 Draw of Lots	15 5	15	Draw of Lots	75	25	1575	45	c	OPEN	150	REGULAR	LUCKNOW	Ghazipur Chauraha, WML	2552
BETWEEN KM STONE NO.9 TO 15 ON NH931 FROM														
	5 3		Draw of Lote	30	12	900	30	ر ا ا	OBC BL	75	DECLILAD	AMETHI		2615
	3 3	3	DIAW OI LOTS	30	12	900	30	-	UBCPR	/3	REGULAR	MIVIETINI		2013
BETWEEN KM STONE NO. 9 TO 15 ON NH931A FROM JAYAS			1					.	I I					
	15 5	15	Draw of Lots	60	25	224	14	C	OPEN	450	REGULAR	AMETHI		2626
Within 1km of Zafrabad Railway Crossing on Zafrabad Road in						1			1				Within 1km of Zafrabad Railway Crossing on Zafrabad Road in	
2760 Jaunpur WML JAUNPUR REGULAR 107 OPEN DC 35 35 1225 25 60 Draw of Lots	15 5	15	Draw of Lots	60	25	1225	35	c l	OPEN	107	REGULAR	JAUNPUR	Jaunpur WML	2760
WITHIN 2 KM FROM VARANASI RTO OFFICE (SAME SIDE) ON														
	5 4	5	Draw of Lots	30	12	900	30	oc	OPEN CC 1	84	REGULAR	VARANASI		2827
2027 BARRATURA RIPOTORI TOURU VARIANISTI REGULIAR 04 OPENCET DC 30 30 300 12 30 DIGWOLLDS BETWEEN KM TONE 298 AND 302 ON NH232 (FATEHPUR-	- + - +	†	DIGW UI LUIS	30	14	500	30	-	01 211 00 1	34	REGULAR	- AMARIAN I		2021
		_						_						
2904 BANDA) BANDA REGULAR 75 SC CFS 30 30 900 0 0 Draw of Lots	0 2	0	Draw of Lots	0	0	900	30	F5	SC	75	REGULAR	RANDA	BANDA)	2904

	T									ı	I			
	Between KM Stone Number 37 and 39 on SH - 40 (Jaspura-													
2908	Sumerpur Road)	BANDA	REGULAR	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
	BETWEEN KM STONE 89 AND 91 ON SH71 (LHS ,MOVING													
2914	FROM ATTARA TO NAREINI CHAURAHA)	BANDA	REGULAR	60	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
	BETWEEN KM STONE 61 AND 63 ,LHS ON SH71 (ATTARA TO													
2917	NAREINI CHAURAHA)	BANDA	REGULAR	99	OPEN CC 1	DC	30	30	900	12	30	Draw of Lots	5	4
	BETWEEN KM STONE 45 AND 49 ON SH71 (ATTARA TO													
2918	NAREINI CHAURAHA)	BANDA	REGULAR	60	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	2
	BETWEEN KM STONE 92 AND 94 ON SH71 (RHS MOVING													
2920	FROM ATTARA TO NAREINI CHAURAHA)	BANDA	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	BETWEEN KM STONE NO. 438 AND 440 ON SH 21 (RATH -													
2924	PANWARI ROAD)	MAHOBA	REGULAR	111	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
	BETWEEN KM STONE 64 AND 66 ,RHS ON SH71 (ATTARA TO													
2927	NAREINI CHAURAHA)	BANDA	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
	BETWEEN KM STONE 262 AND 265 ON NH 335 (OLD NH232)													
2941	(LHS WHILE MOVING TOWRADS TINDWARI)	FATEHPUR	REGULAR	150	OPEN	cc	35	45	1575	25	10	Bidding	30	5
	Jail chauraha & Jhansi Hotel to Army township on jhansi to													
2966	babina road	JHANSI	REGULAR	135	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
	Rajnagar Extension NH 58 cut to KDP Chowk on on Hindon													
3173	Elevated Road RHS	GHAZIABAD	REGULAR	112	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
	Within 2Kms of Muzaffarnagar Medical college on Roorkee-													
3222	Meerut National Highway	SAHARANPUR	REGULAR	130	SC	CFS	30	30	900	0	0	Draw of Lots	0	2
3224	Between KM stone 90-92 on Shamli-Kandhla road(NH70B)	SHAMLI	REGULAR	249	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5

Application fee of those Applicants, who have already submitted the applications along with the requisite application fee for the above locations, shall be refunded. All other terms & conditions of the advertisement published on 25.11.2018 remains unchanged.